IRILIKAF: 109 S24 5 H Pl sl B A 9 2 2 2t ot

R FH: Emm 2-
EWHE: 7TA R HER=) 16 AR 3 kME, 2 H

() ZIFE (ERERS > £+ FHOOOEIES -

L. 5.10X2"HVERE T 5 S, 1, 0 =(HEs -

2. WFfEAY ST BN Aoy s -

3. FINBEEE D o S AR

A SREEEESES > BEREA - TR A

5. SRFANMEENER » B LKA - YA

6. & ATEHIRREBLES - AFTHEIIIE B 7 eris NP B SR R AR F -

1. ERBRZERIEI0G - WY E R BRI  E R T R B 45 -
8. EERZERIEIING - MBS AL PR BIEEENS TR E A R 60 FE -
0. FHBIAES D » BRIV o BBt

10. /NEEEE 800 kg EA B 100 kmvh » H B S B A Z HE S 1600 kg » & 50
km/h —#§ -

1. BEEEAL 1J= lkgm/s'=INm -

12. SEBYEE PP AT o DU e (e s B 7 e S

13. VIRSfEREMES) - R EA B GEGE —E e B 1 -

14, FEsR MR iR o o R ENESFE > AR S RS -

15. AEEIZIRAR AR B ST b 0y 5] e iy vagist = paiq =l
AGCLER BN RS - B RHyEE S8y -

16. EHIRPAEMIN R — (5 R > MEBERE  HE I o 25/ -

17 ANETEMIRIEMIH T - ESIHIEESE o & R iE(l - BlyEEEmR -

18. SEBERKepler' s law)sE Y EmBIEERTEE - VRSB BB
& HEREHHRE R -

20. HEAEURAIEEIG &R o BReE M - AL AR A = (B -

21 (B — (BRSS9 2 RIS R B AR/ YRR R
22. B #E(pendulum) 38 AF 2 PRET B fERY o

23. VIEHTHERMK - AR R -

24. BRTEGRRS G R B B R A Y S PR G e RS R [E )

25. EENRBAVEER IR0 - B TR SR R AT (i -

26. R (camot) TEERBE » HBAAI RS B4R 8 B FE L 1A B -

27. R E R FH A AR A R 5 T

28. FFEMATER A B G ARNAEE sE e

29. EHTE R A BE R A M B TS R A/

30. F{EPATEBEIRAT R TATESE - Srh A5G B B T L -
ZHEE BEAS  £=445

I, 5515 B sk s H B s B % EREHEEIEIH 52.0x1000 » £k S
5.0X107% em’, BFEA 0.2m » 3R H B = 5%/

_7-;, - :-"’_:‘ -'"w;':}:' ‘l\'b
g el



P EE 100 547 Ff F ] 500081 32 S i

% o | | ]
0. YRR BE. waEwm )
R HB: 7H 2 HEM=) %1 & AL 3 KEE, 2 H

(@)25 Qm, (b) 50 @m, (c) 75 2m, (d)100 Qm
2. FHAE T —([EREARA ?
@)a, ()b, () c, (A d, &) —1k

3. SREAE LEY > R BRI T AR ARSI RS
@a, (b) b, () ¢, (d) d, () —k&
4 WEHE - BB EGAE RGBT SOE—E T BRI T 4 RS

/JIL ‘?

(@) B,C,D, (b) Band D, (c) C, (d) A and E.

5. W NAEFTR Otto 1828 » ERIFMEN B urE
i ? @0,(0b)1,©),2,d)3,)4

2egssysees

piMPa)

6. W EE > EEEORRESL  BEA M BEEE : 6 0.

R—UmiE TS, - HEgEg s/ 0 V(1073 m)

(a) 1/3 ML?, (b) 1/5 ML? ,(¢) 1/6 ML*(d) 1/10 ML?, (e) 1/12 ML

= 5 EE BEARY 0 45

1. ’J_'%:/)r(,(l 23 A),},Lﬂ‘fﬂﬁﬁ(pc = 8.96 g/cm )EE,:F ﬂ‘ﬂﬂ ﬂﬁlﬂ%’ﬁmﬁlﬁﬁzﬁ?ﬁ 4 Tfﬁ“{%@”%grﬁ
EEER 0.25 uV FBHEHEEA/INDBES L ? SHETFE63.5 g/mole)

2. A—E/KFEETE B 2.00 LIFASERE A 200 °C, R TR EZ VEEEB0) A S =)
95.0 °C? /KEEEAA 4.19 kI/keK.




